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     1.Choose the correct option.
I . Reproduction in which only one parent involved is called--------
       a.asexual    b. sexual    c. fission d. none of the above 
      II. Bryophyllum is propagated vegetatively by
       a. bulbils    b.leaf buds     c .stem cutting     d. seeds
     III.Potato is a -------
      a . rhizome    b. stem tuber    c. root tuber     d. corn
IV.Food in ginger is stored in its
a. Stem   b. root c. scale leaves   d. buds
V.An outgrowth growing into a new individual --------
a. bud      b. fragment  c. fission d.layering 
2. Mention the kind of reproduction which helps multiplication in :

a. bacteria ,b. yeast, c. mucor, d. spirogyra, e. potato, f. bryophyllum , g. rose ,h. jasmine, i. mango

3. Answer the following 
1. What do you understand by induced vegetative propagation ?
2. What are advantages of vegetative reproduction?
3. How do potato plants reproduce asexually?
4. Where are the following found give examples:
I. Vegetative propagation from root
II. Vegetative propagation by underground stem 
III . Vegetative propagation by stem



   



